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PRODOTTI NOTEVOLI

ESPRESSIONI

1.

10.

1.

12.

13.

(a-b)>-(a-2b)*+(a-b)(a+2b)=

=a’ -2ab+Db*-a’*+4ab-4b* +a® + 2ab - ab - 2b* = a® + 3ab - 5b”
(x=2y)* +(x=3y) (x+3y) - (x+2y) (x-3y) =

=X —AXYy+4y* + X2 —9y? — X2+ 3Xy - 2Xy +6y* = x> —-3xy + y°
(a-1)*+(2a-1)(2a+1) -(-2a+1)(-2a-1)+2a=
za’-2a+l+4a*-1-4a*+1+2a=a’+1

2

o2 ) )

2 2 2 2 2
—4at-tir-a+laz-tarsavazgar+

4 4 4 4
(2a-x) (2a+x) +(a-2x)> - (x—-2a)* =
=4a® - x*+a’-4dax+4x* - x* +4ax-4a’=a’ +2x°
(2a*-1)(a+1)+(3a+2)(2-3a)-2a*+7a(a-1) =
=2a’+2a’-a-1+4-9a°-2a°’+7a*-7a=-8a+3
4(a+b)*>+(-2a+b)>-b”>-(a+2b)®=
=4a’ + 8ab + 4b* + 4a® - 4ab + b® - b* — a® — 4ab - 4b* = 7a°
(2+a-b)(2-a+b)+(a-b)2=4-(a-b)?+(a-b)=4
X+y+2z)?+(x-y)P+(y-2z)*+(z-x)°=
(x+y+2z) y y
=X+ Y+ H2XY +2XZ+2YZ2+ X - 2XY + Y + Y - 2yz+ 27 + 77 - 2xz+ X* =3X° + 3y’ + 37
(a-2b)*> (a+2b)*-(a®-ab-b*) (a®-ab+b?)+(-3ab)* =
= (a® - 4b*)* -[(a® - ab)* - b*] + 9a’b’ =
=a’ -8a’b® +16b* - a* + 2a’b - a’b* + b* + 9a°b* =17b* + 2a’b
(x+2y)* = (x-2y)° -3y (-2x)* =
=x*+6X°y+12xy* +8y° - x> +6X°y - 12xy* + 8y’ —12x°y =16Y°
(a®-1)(a”+1) (a®+2)-(a*-1)°*-(2a®> -1)* =
=(a'-1)(a®*+2)-(a®-3a*+3a°-1) - (4a* -4a* +1) =
=a’+2a*-a*-2-a*+3a*-3a°+1-4a’+4a°-1=a"-2
(a+b+c)(a+b-c)-(a-b+c)(b+c-a)+(a+b+c) =
=(a+b)*-c®*-[c®—(a-Db)’]+a’+b®>+c*+2ab+2ac+ 2bc=
=a’+b*>+2ab-c*-c®+a’-2ab+Db*+a®>+b”+c”+2ab+2ac+2bc=
=3a” + 3b® - ¢® + 2ab + 2ac + 2bc
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14 (=X+y+z+t)(x-y+z+t)+(x+y-z+t)(x+y+z-t)=
=(z+1)° = (x-y) +(x+y) - (z-1)°=
=242t +tP - XP+2XY - YA XP + 22Xy + Y — 727 + 27t —t? = 4xy + 4zt
5. (a-b)®+3(a-h)2(a+b)+3(a-b)(a+b)?+(a+h)=
=[(a-b)+(a+b)]’=(a-b+a+b)’=(2a)®=8a°
16. 3(x-y) (x+y)+3(x+y) (y-x) -6y (x+y)(-x+y)
=3(X=Y) (X=y) (x+y)+3(x+y) (x+Yy) (y-X) -6y (=X +y°) =
=3(x=y) (X -y ) +3(x+y) (Y -X)+6Xy-6y =
=3x> —3xy* -3x°y+ 3y  +3xy* -3x° +3y* -3x°y+6x°y-6y* =0
17. [X*+2(x-1)]?-4x°(x-1)-[2(x-1)]* - (xX* -1)* =
=(X2+2x-2)? -4x3+4x* - (2x-2)* - x* +2x* -1=
=x'+(2x-2)2+2x° (2Xx-2) - 4X +4x* - (2x-2)* - x* +2x* -1=
=xPHAXC -4 - A + 4 - xP+2x° -1=2X" -1

2
18. (a®*-2a)’®+a(2a® +3a)’ —2a3(2a—%j -a'(a+2)(a-12) =
=a’-6a’ +12a’ —-8a’ + a(4a’ +12a’ + 9a°) - 2a° (4&12 —2a+%j -a*(a®-10a-24) =

:a6—6<315+12a4—8a3+4a5+12a“+9a3—8a5+4a“—%613—a6+10a5+24a“:+52a“+%a3

2 2 2
19 2a2—(a—1bj(a+1bj - Ly —[1a2(2a2+b2)} =
2 2 16 2
— 2
= 2a2—(a2—1b2j2—ib4 —{a4+1a2bzrz
2 16 2
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=y3—gxy2+§x2y—%x3+:—;x3+%x2y+gxy2+y3—6[y(%x2—xy+ y2j+xy2}=

=2y3+gx2y—6[711x2y—xy2+y3+xy2}=2y3+gx2y-gxzy-6y3=-4y
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21.

22.

23.

24.

5b(1+%b)+(b2 +b-1)? —(b+1)3—b2(b+%j=

=5b+gb2+b“+b2+1+2b3—2b2—2b—b3—3b2—3b—1—b3—%b2=—1—jb2+b4
1.V 1 1.\1°
3a2b2—(a2—3b2)2—b2(2a——bj + (a——bj(a+—bj =
4 2 2
1 1,,7°
=3a2b2—a4—9b4+6a2b2—b2(4a2—ab+—b2j+[a2——b2} =
16 4
— 2 W2 4 4 2 1h2 3 1 4 4 1 2 2 1 4 __ 4 3 9 2 W2
=9a‘b " —-a"-9b" -4a“b " +ab°’-—b*+a —Eab +Eb =-9b" +ab +§ab

{[(x+3a)(x+2a)-(x—-3a)’]:(-3a)}*’-a(a-7x) =
={[x* +5ax+6a’ - x*-9a’+6ax]:(-3a)}*-a*+7ax=
={[-3a® +1lax]:(-3a)}* —a’* +7ax=

2
= a—l—lx —a2+7ax=a2—§ax+£1x2—a2+7ax:£1x2—lax
3 3 9 9 3

[az(a—l)—a(az+1)]2—a2(a+1)2+(_% aj -
=[a’-a*-a’-a) -a (a2+2a+1)2+(—:_;

1
=a“+2a3+a2—a4—2a3—a2—§a = -



